B EZMZEEF % HYDRAULIC CHUCKS SERIES

K  OPT|
ZME&E
oh 22 ieh [ 52 B

2-JAW HIGH SPEED
HOLLOW POWER
CHUCKS

09 OF
=EMEE
oh 22 jfh R A2 58

3-JAW HIGH SPEED
HOLLOW POWER
CHUCKS

17 I
EMpEHERE
3-JAW SOLID
POWER CHUCKS

10 OF
oS =
o 22 it B AR 3R

4-JAW HIGH SPEED
HOLLOW POWER
CHUCKS

18 DP
=M b ERR
3-JAW SOLID

POWER CHUCKS

11 P
R P 22 BT I
SUPER HIGH
SPEED HOLLOW
ROTARY

HYDRAULIC
CYLINDERS

19
o & it B D 8 §I

SOLID ROTARY
HYDRAULIC
CYLINDERS

12
BRREDZE
0 51
HIGH SPEED
COMPACT HOLLOW
ROTARY

HYDRAULIC
CYLINDER

20 i

oh = i B 10 48 1
(MFIEEE)

SOLID ROTARY
HYDRAULIC
CYLINDER
(BUILT-IN CHECK
VALVE)

13 DPB
AILE=MEE

oh 22 ifh [ A5 58
LARGE THROUGH
HOLE 3-JAW HIGH

SPEED POWER
CHUCK

21 i

oh 5 i B i 4 1
(MLEERBHESR)

SOLID ROTARY
HYDRAULIC
CYLINDER
(BUILT-IN CHECK
VALVE & SENSOR)

14 P

RILEBE
oh 22 jfh /B2 i0 $8 §1

LARGE THROUGH
HOLE SUPER THIN
HOLLOW ROTARY
HYDRAULIC
CYLINDER

22

& IR E
COLLET CHUCKS

15 P
L= R R

PULL BACK
POWER CHUCKS

24 P
1% 3 =X jeh BB 2 A8

PULL BACK
POWER CHUCK
FIXTURES
(HYDRAULIC)

16

Mo EHEREA

2-JAW SOLID
POWER CHUCKS

25 O

70 5 =0 o 22 5 B
g 110°3: ]
2-JAW HOLLOW
POWER CHUCK
FIXTURES
(HYDRAULIC)

26 O

Pa 5 =X o 22 i [
=M
3-JAW HOLLOW
POWER CHUCK
FIXTURES
(HYDRAULIC)




RBE & Ao/ 3 HE=E
W SOLID POWER CHUCKS

— MOPESHEEZRER

2
233
N
H{VUNIT:mm
Cc D E E1 F G H J

/SPEC. Spindle "

CLT-06 A5 165 74 140 82.563 15 - 5 116 104.8 21
CLT-08 A-B(Ar-5) 210 85 170 106.375 i7 23 5 150 1334 25
CLT-10 A-B(A-8) 254 89 220 139,719 18 28 5 190 171.4 34
CLT-12 A:-B 304 106 220 139.719 18 - 6 190 171.4 34
m,%{)ﬁaﬁ K L M N N 0 (o] P P Q R S

| SPEC. max. min. AR, i, max. min.

CLT-06 6-M10x1.5P 14 20 37.8 33.25 15.1 9.1 1015 815 a1 12 36
CLT-08  6-M12x1.75P 18 25 46.3 418 221 101 127 106 35 14 36
CLT-10 6-M16x2P 25 30 51.4 47 308 9.8 158 133 40 18 36
CLT-12 6-M16x2P 25 30 60.7 55.45 48.6 12.6 163 133 50 18 36
B /7748 HE{TE MiTE (EfE) = BNE
MODEL T U v w X Y Plunger Stroke Jaw Stroke Max.Spead
/ SPEC. mm) [Diameter] (mm) r.p.m.(min")
CLT-06 4 M16x2P 34 39 73 - 20 85 5000
CLT-08 5 M20x2.5P a8 42 a5 104.8 21 88 4000
CLT-10 5 M20x2.5P 45 45 110 133.4 25 8.8 3500
CLT-12 5 M20x2.5P 50 54 129 - 30 10.5 3000
B /1348 |Ahh AN BARTEHEED AE FERc T ESR HEFreE
MODEL Max. Pull Force Max. Gripping Force Max. Hydr. Pressure Weight Matching Gripping
/SPEC. kgf (KN) kot (KN) kaflem®*  (Mpa) (kg) Cylinder Range
CLT-06 1220 (12) 3460 (34) 17 (1.7) 11.1 L1020(L1020R) 29~9165
CLT-08 1630 (16) 4990 (49) 16 (1.6) 21.3 L1225(L1225R) a12~a210
CLT-10 1830 (19) 7140 (70) 18 (1.8) 32.6 L1226(L1225R) &15~0a254

CLT-12 2750  (27) 10300  (101) 20 (2.0) 57.0 L1530(L1530R) 0202304



RN KR # A2 9 e
OLLOW POWER CHUCKS

—_I\SEPZEHER 2R ER

[j <

[
:

U = . l— ;!_J‘%I
po)8|% B 143 SeE -
r 2 i || 1] 83
=) = ﬂ_rﬁ “:@ - A
i N 5 — N
' K F EJlL]
OPT-204,0PT-205 & OPT-206,208,210,212, 215 B b5 = iy e
B L..
Fﬂ1_'_-:_.','L_Ih|I'I' mm
B/ e ZHEmRESE
MODEL Nose Of A B C D E E1 F G H H1 I J K L
{SPEC. Spindle (b5}
OFT-204 -- 110 59 B85 - . I 70.6 - - 26 4-M10x1.5P
OPT-205 As-d 135 60 110 63513 20 -~ 4 96 826 PCDo118 4-MBx1.25P 33 4-M10x1.5P 15
OPT-206 A5 169 81 140 82563 15 - 5 116 1048 PCDo145 6-M1OX15P 45  6-M1OX1.5P 16
OPT-208 ArBlA~5) 210 91 170 106375 17 23 5 150 1334 PCDeli80 6-M10x1.5P 52 6-M12x1.75P 18
QPT-210 Ar8(A-B) 254 100 220 139719 18 28 5 190 1714 PCDe225 6-M12x1.75F 75 B-M18x2P 19
OPT-212 A8 304 110 220 139719 18 -~ 6 190 1714 PCDe250 6M12x1.75F 97 6-M16x2P 25
OPT-215  A-11(A-8) 581 133 300 196869 22 33 6 260 235 PCDo324 6-M12x1.75P 117.5 6-M20x25P 28
OPT-206L Ab 173 87 140 82583 15 -~ & 1168 1048 PCDel145 &-M10x1.5P 45  &M1Dx1.5P 15
OPT-208L  A-B(A-5) 215 103 170 106375 17 23 5 150 1334 PCDo180 6M10x15P 52  6-M12x1.75P 21
OPT-210L A=B(A=~B) 256 112 220 139719 18 28 5 180 1714 PCDe225 6-M12x1.75P 75 6-M16x2P 22

BIETE HETE

BB v N N O o P P @R 8 T U V W X ¥ Thu-Hole Plunger
MODEL max min max min max min [Diameter] Stroke
OPT-204 14 23 203 115 67 35 -65 23 10 175 2 M32x16P 12 24 495 - 26 10
_OPT-205 14 262 235 19 6 1 9 25 10 20 2 M40x15P 12 315 62 - 33 _10_
OPT-206 20 3235 296 24 7 11 -1 31 12 19 2 MS5x2P 20 375 73 - 45 12
OPT-208 25 381 354 30 10 145 -15 35 14 205 2 MBOx2P 30 385 G5 1048 52 16
OPT-210 30 515 471 34 12 85 -105 40 16 25 2 MB5x2P 40 43 110 1334 75 19
OPT-212 30 616 563 46 12 8 15 50 21 28 2 MI0Ox2P 50 51 129 - g1 23
OPT-215 43 823 77 a8 13 7 16 62 22 425 5 M130x2P 48 665 165 1714 1175 23
OPT-206L 20 39.07 3346 2105 1065 11 4 31 12 18 2 M55x2P 20 375 78 - 45 15
OPT-208L 25 47.85 39.66 2505 1305 145 -75 35 14 205 2 MBOx2P 30 385 85 1048 52 22
_OPT-210L 30 6134 5206 2905 1255 85 -165 40 16 25 2 M85x2P 40 43 110 1334 75 25
MiT#E B 8 g A1 BARE =
B (BE) BEOWE  macrd Mo EEED) Bl gpnre K
'!ASOI'-?E% ‘f%:;nsgf;? Max.Speed Force Force Mpa:ég,:y?; Weight Malching GFt‘ipping
. T u =
ot r.p.m.(min") kgl  (KN) kgt (KN) kgiem  (Mpa) (ka) Cylinder ange
OPT-204 54 8000 920  (9) 1830  (19) 155  (15) 36 POU28 a7~0110
OPT-205 5.4 7000 1120 (11) 2340  (23) 19 (1.9) 6.5 P1036 010~0135
OPT-208 5.5 6000 1420  (14) 3770 (37) 185  (1.8) 13.1 P1246 013~0169
OPT-208 7.4 5000 2240  (22) 5710  (56) 17 (1.7) 23.0 P15652 013~0210
OPT-210 88 4200 2850 (28) 7440  (73) 18 (1.8) 359 P1875 030~0254
OPT-212 10.6 3300 3670  (36) 9690  (95) 18 (1.8) 56.6 P2091 035~0304
OPT-215 10.6 2500 4780 (47) 12130 (119) 17 (1.7) 103.2 P2511 035~0381
OPT-206L 10.8 4300 1420 (14) 28650 (26) 18.5 (1.8) - P1246 020~0173
OPT-208L 16 3500 2240 (22) 3870 (38) AT (1.7) 264 P1552 025~0215

OPT-210L 18 3000 2850 (28) 4990  (49) 18 (1.8) 395 P1875 040~0256



RBEX Qsgwh /2 3 PEEE
3-JAW SOLID POWER CHUCKS

=/MEHEEFZEE

B e
; tl.._\_\y
| %%

B

B{/UNIT:mm
B /HiE TERREE
MODEL Nose Of A B “% D E E1 F G H K L M
I SPEC. Spindle
CL-15DP A-11 381 118 300 196.869 22 - ] 260 235 6-M20x25P 32 43
CL-18DP A1 450 118 300 196.869 a2 - B 260 235 68-M20x25P 32 43
CL-21DP Ar15(A=~11) 530 129 380 285775 27 41 6 330.2 330.2 6-M24x3P 33 60
CL-24DP A-15(A=11) 610 129 380  285.775 27 4 6 330.2 330.2 6-M24x3P 33 60
CL-32DP Ax-15(Az-11) 800 120 380 285775 27 41 6 330.2 330.2 8-M24x3P 33 60
E&%{g N N o] 0 P P Q R s T u v w X Y
i'SPEC. i, min. X, min, max, men,
CL-15DP 69.05 6087 5805 4005 104 69 62 255 55 7 M30x3.5P 60 68 165 -
CL-18DP 0946 9138 5805 4005 92 57 62 255 55 7 M3Ox35P 60 68 166 -
CL-21DP B049 7241 1018 418 9695 H195 65 25 65 7 M30x35P 60 755 18D 235
CL-24dDP 11949 {1141 1018 418 9695 6195 65 25 55 7 Maox3sP 60 755 180 235
CL-32DP 11949 11139 1978 418 97 6195 65 25 55 7 M30Ox35P B0 755 180 235

_ MiTiE BT BABE
. 7] AW 3 i1
Bsh /448 %Eh-&? p Eﬁstt%gka ﬁﬂ"g“ﬁ Max. Pull Max. Gripping fﬁﬁq MR e EE‘ ﬁﬁi B
’SPECI:- Stroke [g?:;n'leter] rpa:'; (rE:n‘) Force Force F%;SSU}:'GG. Matching Hang:g
; (mm) {mm) kgt (KN) kgt KN otiem (Mpa) Cylinder

CL-15DP 35 16 3000 8280 (81) 25200  (248) 32 (3.1} L2035(L2035RE) @68-2381
CL-18DP 35 16 2700 8260 (81) 25200  (248) 32 (3.1) L2035(L2035RE) @100~2450
CL-21DP 35 16 1900 8650 (85) 27000  (285) 33 (3.2) L2035(L2035RE) @80~0530
CL-24DP 35 16 1700 8650 (85) 27000  (265) 33 (3.2) L2035(L2035RE) o155~2610

CL-32DP a5 16 1100 8650 (85) 27000  (2685) 33 (3.2} L2035(L2035RE) o155~2800



= S 258 Qad2 T

1 SPEED HOLLOW POWER CHUCKS
= N\S5EPZEHEEFETE

L:DIE1T1E | BH:DIR3LEE

.

OP-204,205 &I 0OP-206,208,210,2128 OP-215,218,221,224 B! B g

B /UNIT.mm
EH
i"“'wﬁ BlE®R A B C D E Et F G H H1 I HE 12 H3
JSF"EC Nose Of {h&)
; Spindle
OP-204 - 110 59 85 - = = 70.8 - = = =
OP-205 Ag-4 135 60 10 8638513 20 - 4 98 826 F’CDG‘HE SMBM 25P - . -
OP-206 A5 168 81 140 B2563 15 - 5 116 1048 FPCDO145 B-M10x1.5F .- - -
OP-208 A-6(A-5) 210 91 170 106375 17 23 5 150 1334 PCDo180 B-M10x1.5P - - -
OP-210 A-8(A-6) 254 100 220 139719 18 28 5 190 1714 PCDo225 6&Mi2x1.75P - - -
OP-212 A8 304 110 220 139719 18 - 6 190 1714 PCDo250 6-M12x1.75P - - -
__OP-215  A-11A-8) 381 133 300 196869 22 33 € 260 238 . - _ PCDe230 3-M12x1.75P PCDp300
OP-218 A=11(A-8) 450 133 300 196869 22 33 6 260 235 PCDo230 3-M12x1.75F PCD0300 3-M12x1.75F PCDo3B0
OP-221 A-15(A-11) 530 140 380 285775 27 41 6 3302 3302 PCDo300 3-M16x2P  PCD0o380  3-M16x2P  PCDo480
OP-224  A-20(A-15) B10 149 520 412745 27 42 © 4636 4636 PCDo350 3-M16x2P  PCDe450  3-M16x2P  PCDo550
OP-210BH A-B(A-8) 254 100 220 139719 18 28 5 190 1714 - = PCDo160 3-M12x1.76F PCDo220

OP-212BH A8 304 108 220 139719 18 — B 190 1714 = = PCDo170  3-MiBx2P  PCD0260
OP206L A5 173 &7 140 82563 15 - 5 116 1048 = = _PCDe90  5-MBx125P PCDo140
OP-208L / 215 108 170 106375 17 23 5 150 1384 - - PCD0120  3-MBx1.25P D170
OP-210L 256 112 220 139719 18 28 5 190 1714 - - PCDo160  3-M12x1.75F PCDo220
EM%’E%I% 12 d K L M N N 0 (o] P P QR 8 T u v W X
JSPEC AN min [ min mEx min
OP-204 .- 26 3-M10x1.5P -- 14 23 203 115 6.7 o5 65 23 10 175 2 M3I2x1.5P 12 24 495
OP-205 e 33 3-M10x1.5P 15 14 262 235 19 5 1 -9 25 10 20 2 M40x1.5P 12 215 62
OP-206 .- 45 6-M10x1.5P 16 20 3235 286 24 7 11 -1 31 12 18 2 Mbh5x2P 20 3765 73
_OP-208 = 52 6-M1x1.75F 18 26 301 354 30 10 145 15 35 14 305 2 MBOx3P 30 395 95
OP-210 .= 75 B-M16x2P 18 30 515 47.1 34 12 8.5 =105 40 16 25 2 MBSx2P 40 43 110
OP-212 91  6MI16x2P 25 30 616 563 46 12 8 15 50 21 28 2 MI0Ox2P S0 51 129
OP-215  3MI2x175P 1176 BM20x25P 28 43 823 77 46 13 75 .16 B2 22 425 5 M130xP 48 B85 165
OP-218  3-M12x1.75P 120 6-M20x25P 28 43 838 785 78 18 75 -16 B2 22 425 5 M130x2P 48 665 165
OF-221 3-M16x2F 180 B-MZ4x3F 33 60 119_6 1143 633 23 106 13 65 25 425 5 MI96xZP BOD 735 1RO
OP-224 3-M16x2P 205 B5-M24x3P 344 1284 B73 213 135

OP-210BH ~ 3-MI2x1.75F 78 E&Mi6x2P | __2_4 30_ 53!1_@6_:!555 11.05 885 -
OP-2128H ~ 3-M16x2P 93 B-Mi6x2P 27 30 637 587 » 1255 8 i Mg
OP-208L  3MBx1.25° 45 &MI0x15P 15 20 3907 3345 2105 1055 1 i
OP-20BL ~ 3-MBx1.25P 52 6-M12x1.75F 21 25 4785 3966 2505 1305 145 -‘:_‘_5 __3‘5 14 QQS‘Q'W 30 395 95
OP-210L | 3-M12x1.75P 75 &m&:ap 22 30 6134 5206 2905 1255 B5 -165 40 16 25 2 MBS5x2P 40 43 110

2 P 2 g B LERE
p HILET EETHE [ A L s - = =i “ .
B/ S Thn-Hoe  Plunger Ja ES?JH BETWE yax Pul  Max Griopnd  om g JPH gEEmy  ZRE
TgEEECI:- ¥ [Diameter] %e ED‘:;mE?Bf? rp"| arn:ﬁtm Ll Farce Pressure  cdM Matching GFr;apmng
- {mm) (mm) P kgl (KN) kgl (KN) ygtieme (Mpa) (k9)  Cylinder nge
DOPF-204 - 26 m_ 54 8000 1428 (14) 2850 (28) 24 (23) 38  P0928 07~0110
— OP-205 - 33 10 54 7000 1730 (17) 3570  (35) 20 (28) 6.1 P1036 010-0135
OP-206 - 45 12 55 6000 2140 (21) 5710 (56) 28 (27 125 P1246 013-0162
OP-208  104.8 52 16 7.4 5000 3360 (33) 8360 (B2) 26  (25) 218  P1552 013-0210
OP-210 133.4 75 19 88 4200 4280 (42) 11010 (108) 27 (26) 337 P1875 0300254
DP-212 - o 23 10.6 3300 S500  (54) 14280 (147) 27 (26) 553 P2091 035-0304
OP-215 1714 117.5 23 106 2500 7140 (70} 1B250 (179) 245 (24) 1068  P2511 035-0381
OP-218 171.4 120 23 108 2000 7140 (F0)  1B250 (179) 245 (2.4) 152 F2511 040-0450
OP-221 235 180 23 106 1700 9080 (89) 23760 (233) 315  (3.0) 1952  P2816 ©115~0530
OP.-224 330.2 205 26 12 1400 9080 (89) 23760 (233) 315 (3.0) 269.4  P2816 ©140~0610
OP-210BH [ 1334 78 195 9 4200 4280 (42) 11010 (108) 27  (26) 367 P1B7E  030-0254
OP-2128H = 93 21 10 3300 5500 (54) 14380 (141) 28  (27) 574  P2093 035-0304
OP-206L | - 45, 108 4300 2140 (21) 4080  (40) _020~0173

OP-208L _ 104.8 22 18 3500 3360 (33) 5910  (58) 26 ..‘%53 37 P1552 025-0215
OP-210L 133.4 25 27 P1875 040-0256

18 3000 4280 (42) V540 (74)



BB F A 5%/ ) 1HEE

3-JAW SOLID POWER CHUCKS
=/MhEHEEZZEE

E_% CL-15,188 (CL-05)

348 #!,& > Specifications B {/UNIT.:mm
ﬁ&%ﬁ' Iﬁgg&! A B & D E El F G H J K L M
/ SPEC. Spindle
CL-D5 A4 135 55 80 83.513 - - T - 100 - 3-M8x1.25P 14 14
CL-08 AsS 165 74 140 82563 15 - 5 116 1048 21 B8-M1Dx1.5P 14 20
CL-08 A-B(A-5) 210 85 170 106375 17 23 S 150 1334 25 6MI2X1.75P 18 25
CL-10 A-B(A-6) 254 89 220 139719 18 28 5 180 1714 34 &MIEX2P 25 30
CL-12 A-8 304 108 220 139718 18 - 6 190 1714 34 6-M16x2P 25 80
CL-15 A-11 381 114 300 196868 22 - 6 260 235 = B-M20x25P 32 43
CL-18 Ar11 450 114 300 196868 22 - 6 260 235 = 6-M20x25P 32 43
gmﬂog%_ﬁ N N 0 0 P P Q - s T U v WX Y
{ SPEC. e, min. max. min. max. min.

CL-05 304 272 174 9.6 9 © 25 10 % 2 Mi1.75P 28 31 82 -
CL-06 878 3325 151 91 1015 815 81 12 36 4 Mi6x2P 34 929 7 -
CL-08 463 419 221 104 127 106 35 14 8 5 M20x25P 88 42 95 104.8
CL-10 514 47 308 g6 158 133 40 18 3 5 M20x2S5P 45 48 110 1334
CL12 607 5545 486 128 183 133 50 18 3 5 M20x25P 50 54 128 -
CL-15 6905 8087 5805 4005 104 89 B2 255 55 7  M3Dx35P B0 68 185 -
CL-18 9946 091.38 5805 4005 82 57 62 255 55 7 M30x35P B0 68 165 -
EROE [ g  WASD  mamssgn  BRHEE EE

%%E%Lﬁ Phnger Jaswﬁsit%gka 5&% NaL I meimig M%fﬁyjd]r. ke R HR LI %fﬁ%

/ SPEC. [Diameter]  rp.m.(min") b Pressure (kg et Range

(i {mm) kgt (KN) kg (KN) kgflem®  (Mpa) Cylinder

CL-05 15 6.4 5500 800 (7.8) 2450 (24) 25 (25) 6 LOB15 58~2135
CL-06 20 85 5000 1730 (17) 5200 (51) 25 (25 114  L1020(L1020R) @18~@165
cL-08 21 8.8 4800 2440 (28) 7440 (73) 25 (25 219 L1225(L1225R) @12-8210
CL-10 25 8.8 4000 2850 (28) 10810 (106) 20 (2.8) 334 L1225(L1225R) @16-0254
CL-12 30 10.5 3200 40B0 (40) 15500 (152) 29 (28) 585 L1530(L1530R) @18~0304
CL-15 35 16 3000 8260 (B1) 25200 (248) 32 (31) 1006 L2035(L2035R) @68-8381
CL-1B a5 16 2700 B260 (B1) 25290 (248) 32  (a1) 1343 L2035(L2035R) ©100~0450



N 284 Q@ T s
1ROUGH HOLE 3-JAW HIGH SPEED POWER CHUCK

BRDZEHESEEE R

s e e
et
R

L |

@ 1
gh@eaw“
= B\ b=

8 & 883

i;'ﬁ_'_ "'WE _ =

@2 <er e 5]_
A | — . I
i Nk el |
B
#1432 » Specifications | BIEL/UNIT mm

BOGAE EMEiEHERN

MODEL Nose Of A B8 c D E E1 F G H J K

/ SPEC. Spindle th&)
OPB-208 A5 170 81 140 082.563 - 20 & PCDo122 52 6-M10x1.5P
OPB-208 A6 215 91 170 ©1086.375 - 2 5 = PCDo150 66 B-M12x1.75P
OPB-210 A 256 100 220 0139719 - 8 5 - PCDo180 B1 5-M16x2P
OPB-212 A=11(A:-8) 315 108 300 0196869 22 33 5§ 260 PCD0o235 1086 6-M20x2 5P
OFB-218 A~15(A:=-11) 455 134 380 0285775 27 41 6 3302 PCDo330.2 1665 6-M24x3P
b ael o E iE
e L W N N 0 0 P P Q@ R § T u

J'SPEG max min max mHn max min
OPB-206 - 20 36.35 33.6 21.1 a1 7 -5 31 12 23 2 MB0x2P
OPB-208 - 25 466 429 266 116 10 -6 35 14 25 2 M75x2P
OPB-210 - 30 54.6 50.1 33.1 13.6 85 -10.5 40 16 25 2 Mg0x2P
OPB-212 27 30 89.7 64.3 456 126 8 -15 50 21 28 2 M115x2P
OPB-218 3z 43 108.29 102.45 55.55 16.55 11.5 -13 62 22 a8 5 M180x3P
BT 1R48 a: E{RE LR FERiTIE MmiTig (EE) R aE

MODEL " W X Y Thru-Hole Plunger Stroke Jaw Stroke Max.Speed

! SPEC. [Diameter] (mm) (mm) [Diameter] (mm) r.p.m.{min")
OPB-206 20 375 73 104.8 52 12 55 6000
OPB-208 30 39.5 80 1334 66 16 7.4 5000
OFB-210 40 43 110 171.4 81 19 8.8 4200
OPB-212 50 51 129 171.4 106 23 10.6 3400
OFB-218 80 66 165 235 166.5 24.5 113 2000
Hl=2 [4E mFHLD N DA A BEXIRTEREED a8 Eh =
ki Max. Pull Max. Gripping Max. Hydr. i TR TR g;i;itf

ISPEC. Force Force Pressure (k g] Matching Ra:f eg

kgf  (KN) kgl (KN kghiem®  (Mpa) g Cylinder 4

OPB-206 2200 (21.5) 5900 (58 21 (2.0) 12.3 P14528 013~0170
OPB-208 3400 (33) 8300 (86) 26 (2.5) 21.7 P16665 050~0215
OPB-210 4300 (42) 11100 (108) 29 (2.8) 33.6 P1881S 034~0254
OPB-212 5600  (55) 14580 (143) 18 (1.8) 547 P2511 050~0315

OPB-218 7240 (71) 18250 (179) 23 (2.3) 165 F2816 080~0455



LEF g/l G HE=E
LARGE THROUGH HOLE SUPER THIN HOLLOW ROTARY HYDRAULIC CYLINDEI

ARILEEASE
O 2250 [BR 58 6 i

1SR - R SRS - ERICETEMEE - RZREM ) E1E
 ERIREWE - TLAERESE -

2. K0TS - A3 REEHEN T Y2 RS EeusSEen -

3. ZEWIE - EICOINRIET - FRZRR ERERHD T fRISHETD -

ﬁ'g‘.; Dmgﬂm . 1.Super thin & Lightweight:

' Super thin outer structure makes the weight
lighter than the traditional rotary cylinders;
meanwhile, the compactness and miniaturization
lower the burden of machines.

2.Large Thru-hole Diameter;

With large open center, gripping range of Bar
stock can be increased.

3.Built-in Check Valve:

With built-in " check valve", work pieces can be

effectively prevented from flying out during
abrupt failure of pressura,
_B/UNIT:mm
A5\ /1348
MODEL Al B1 C Ct D E E1 F Fi F2 G G1 H H1
{ SPEC.

P14528 ) 1092 180 30 165 140 Mex1P 85 12-M10x1.5P  6-MBx1.25F 70 1139 Me02P 120
P16668 2 1207 209 35 190 168  Mex1P g5 12-M12¢x1.75P 6-M10x1.5P B85 1254 M75x2P 145
P18815 10.7 1337 222 35 205 168 Méx1P 110 12-M12x1.75P 6-M10x1.5F 100 139.2 M9Ox2P 166

Bt 3R4E
MODEL

J J1 K K Lt M N N1 P P Q o)) R1 S 51 T T u
{SPEC.

P14525 62 B3 40 4 15 55 73 85 g6 4 102 MéxiP 105 137 PT1/2 130 4 1557
P1666S 66 98 40 48 16 70 88 100 1117 4 117 Mex1P 105 181 PT1R 150 5 1702
P18g13S 81 1W76 40 46 15 85 103 113 126 4 132 MexiP 105 176 PT1/2 1756 5 1892

Voo woov v ow owowo oxi oz GRRER, NS Peno
{8PEC. {mm) r.p.m.(min*) (mm)
P14525 201 17 3 482  Ms8x15P 282 558 5 20 6500 145
P1666S 229 19 -3 50.2 M74x1.5P 2B.2 718 5 22 5600 165
P1881S 244 21.1 38 532 MBEX2P 282 858 5 25 4800 180

/B gpe P BEEREN F'isu;f ﬂfﬁ: m2) Muﬁig{pfraif&ng F;Erce FE
MODEL  gmy Of L?uﬁ% Rate kg',‘j'fn“é P"’S‘{“,‘::a, #O8  KiHE  #OBIPush Side  #IDEIPuI Side “;ﬁlgglm

Push Side Pull Side kgt (KN) kgt (KN)
P14528  0.035 3.9 40 (3.9) 137 126 4860 (47.6) 4464 (43.7) 12.3
P1666S  0.07 4 40 (3.9) 170 157 6048 (50.3) 5580 (54.7) 174

P18B1S 0.08 4.3 40 (3.9) 191 175 6804  (BG.7) 6264 (61.4) 219



... —_—
OLID ROTARY HYDRAULIC CYLINDERS

O B S /R S R T

ARE

14",

B . o __B{UNITmm_
c D o F N H J K L
L0815 75 15 115 80 65 30 21 M20x2.5P 35 137 72
L1020 1056 20 135 100 8D 30 21 M20x2.5P 35 155 72
L1225 125 25 160 130 110 a5 25 M24x3P 45 163 72
L1530 150 30 190 130 110 45 a M30x3.5P 45 173 T2
L2035 200 35 245 145 120 55 37 M3ex4P 60 191.5 72
Lt/ EETE BaRDNE
MODEL M N P 4 Q R Piston Stroke Max. Speed
1 SPEC. . = {mm) r.p.m (min")
LOB15 65 a7 46 31 8-MBx1.25P 102 15 6000
L1020 83 115 45 25 6-M10x1.5P 120 20 5500
L1225 91 123 51 26 B-M12x1.75P 128 25 5500
L1530 101 133 56 26 12-M12x1.75P 138 a0 4000
L2035 119.5 151.5 69 34 12-M16x2P 156.5 as 4000
WA/ME o R REERE Piston Ares F(icn'l’ ) BN BE
P':!S%)E%L (kgm?) Qil Ltsf.-!‘:ﬁ: ]Ra‘la at .P::an:? Prassu{:!p 0 #1 ﬂ sl WMu. Push FOTIW} V\cl'zg;l;t
Push Side Pull Side
Lo815 0.006 0.8 40 (3.9) 44 a7 1600 (15.7) 42
L1020 0018 08 40 (3.9) a6 79 3200 (31.4) 5.9
L1225 0.023 0.8 40 (3.9) 122 113 4800 (45.1) 8.1
L1630  0.048 08 40 (3.9) 176 160 6500 ©7 118
L2035 0.088 08 40 (3.9) 314 280 11800 (115.86) 21.4



LB & sk /2 3 wHE
I-"' SDLID. ROTARY HYDRAULIC CYLINDER (BUILT-IN CHECK VALVE & SENSOR)

O B 5H0 /B SE 85 iR
(MY LEE B2 R A 22 )

R > Dimensions

& : AR BAREARREENHY
Note: Proximity switch is an extra option.

[l
3

-

Jq%['e %

R4 3% » Specifications ? _BHIUNIT:mm_
e s ¢

L1020RE 105 20 135 100 80 30 21 M20x2.5P
L1225RE 125 25 160 130 110 35 25 M24x3P
L1530RE 150 30 190 130 110 45 31 M30x3.5P
L2035RE 200 35 245 145 120 55 37 M36x4P
mj&%ﬁg J K L M N P P

{ SPEC. I, it
L1020RE a5 2315 145.5 86 132 a5 25
L1225RE 45 239.5 1455 94 140 51 26
L1530RE 45 248 5 1435 105 149 58 28
L2035RE 60 266 142.5 123.5 166.5 €9 34
i3t /48 BT BAENE P
MODEL Q R T Piston Stroke Max. Speed (kg-m?)

{ SPEC. {mm) r.o.m {min*)

L1020RE 6-M10x1.5P 137 46 20 6000 0.013
L1225RE B-M12x1.75P 145 46 25 6000 0.023
L1530RE 12-M12x1.75P 154 48 30 5500 0.048
L2035RE 12-M16x2P 171.5 46 35 5500 0.098
BR/BE o R BECEES _ EBEiR BART

Oil Leakage Piston Area [ cm®)
T%E% Rate Max. Pressure =18 e Max. Push Force
: (¢/min) kgt / om* (Mpa) Push Side Pull Side kgt (KN)

L1020RE 0.8 40 (3.9) 84 79 3100 (30.4)
L1225RE 0.8 40 (3.9) 120 113 4500 (44.1)
L1530RE 0.8 40 (3.9) 174 160 8400 (62.7)
L2035RE 08 40 (3.9) 312 290 11700 (114.7)



SE A S R 0P 28 5H [BR 5 88 T

RBEF A o2
HIGH SPEED COMPACT HOLLOW ROTARY HYDRAULIC CYLINDER

3] HE=EE

&=
 RAEBESS ns. | MELUNIT:mm
ﬂm Al Bi ¢ ¢ D D E El1 F F1 F2 e 1 H J A
/ SPEC. (h7)
F1248S ] 117.7 1685 30 130 147 100 Mexi1P 80 12-MiOx1.5P 6-MB8x1.25P 65 117 M55x2P 468 B0
F1552S 9 125.7 190 30 170 170 130 Mexi1P 85 12-M10x1.5P B-M8x1.25P 70 125 MeDx2P 52 9
F1875S 11.6 143 215 35 190 196 160 Mex1P 125 12-M10x1.5P 6-M10x1.5P 95 143 M8sx2P 75 107
iy /4748
MODEL K K1 11 M N  Ni P P11 Q ot R1 5 51 T T u
{ SPEC.
F12465 40 46 15 50 64 76 85 4 a0 4-M5x0.8P(PCDe98) 10.5 121 PT 112 125 [} 164.2
F15525 40 48 15 55 73 85 96 4 102 4-MBx1P{PCD2110) 10.5 137 PT1R2 140 6 172.2
F18758 40 46 15 B8O a8 108 120 4 126 4-Mex1P(PCDg155) 10.5 165 PT12 170 4 197.3
B3l /334 EEITE BEEE EEET
mopeL Ul > X ¥ L . N Z  PistonStoke  Max.Speed  Piston Dia
/8PEC. {mm) r.p.m.(min) (mm)
F1246S 180 10.05 -4.85 44.25 M52x1.5P 29.25 49.8 5 15 7000 125
F15528 205 17.05 -4.85 50.15 M58x1.5P 28.15 55.8 5 22 6200 155
F1875S 231 20.05 -4,85 53.16 MB4x2P 28.15 80.8 5 25 4T00 180
- EEEN BAH (KD A
ﬂ%}'{)’%{ﬁ GD? R aﬁfl o ﬂlﬁﬂigﬁéﬂ)’] Piston Area {cm?) Max. Operating Force
eakage Ra ]
ispec.  (am?) {m%} T sucr sl b #0 i 77 #WPushSide  HIMPuIl Side
Push Side  Pull Side kgt  (KN) kgt (KN)
F124865 0.019 3.0 40 (3.9) 100 8o 3700 (36.2) 3200 (31.3)
Fi562S 0053 a9 40 @.9) 160 150 5000 (578) 5500 (53.9)
F18758 0.096 42 40 (3.9) 198 183 7200 (70.5) 6700 (65.6)



... —_—
OLID ROTARY HYDRAULIC CYLINDERS

O B S /R S R T

ARE

14",

B . o __B{UNITmm_
c D o F N H J K L
L0815 75 15 115 80 65 30 21 M20x2.5P 35 137 72
L1020 1056 20 135 100 8D 30 21 M20x2.5P 35 155 72
L1225 125 25 160 130 110 a5 25 M24x3P 45 163 72
L1530 150 30 190 130 110 45 a M30x3.5P 45 173 T2
L2035 200 35 245 145 120 55 37 M3ex4P 60 191.5 72
Lt/ EETE BaRDNE
MODEL M N P 4 Q R Piston Stroke Max. Speed
1 SPEC. . = {mm) r.p.m (min")
LOB15 65 a7 46 31 8-MBx1.25P 102 15 6000
L1020 83 115 45 25 6-M10x1.5P 120 20 5500
L1225 91 123 51 26 B-M12x1.75P 128 25 5500
L1530 101 133 56 26 12-M12x1.75P 138 a0 4000
L2035 119.5 151.5 69 34 12-M16x2P 156.5 as 4000
WA/ME o R REERE Piston Ares F(icn'l’ ) BN BE
P':!S%)E%L (kgm?) Qil Ltsf.-!‘:ﬁ: ]Ra‘la at .P::an:? Prassu{:!p 0 #1 ﬂ sl WMu. Push FOTIW} V\cl'zg;l;t
Push Side Pull Side
Lo815 0.006 0.8 40 (3.9) 44 a7 1600 (15.7) 42
L1020 0018 08 40 (3.9) a6 79 3200 (31.4) 5.9
L1225 0.023 0.8 40 (3.9) 122 113 4800 (45.1) 8.1
L1630  0.048 08 40 (3.9) 176 160 6500 ©7 118
L2035 0.088 08 40 (3.9) 314 280 11800 (115.86) 21.4



m;l!ULL.EACK POWER CHUCKS

e hI T\ SHERIEER

Eh VR AR FE RIS EIRSE 0 ®A - TH e - EARS

R RA-aI0 T -

1B NENREHE T AT EEE L - ERIGBE - HRELYHE -
2. WERBSH - TRBER - WEERENEKRFEANE -
3 REMPBERLWRBAORKFTHT LG - EXRERERENDN

THEE -
4. TRARGEA - ESBEB{ERMRK -

/R 8 > Dimensions

f

L

N_
—

J—

HII]

"

3% 48 2% > Specifications L.
B /RE
MODEL A B ¢
{ SPEC.
PL-086 168 B3 140
PL-08 210 a7 170
PL10 254 110 220
PL-12 304 125 220
Bizl/HB
MODEL | K
{ SPEC.
PL-D6 - 6-M10x1.5P
PL-08 26 6-M12¢1.75P
PL-10 32 8-M16x2P
PL-12 36 B-M16x2P
b
MODEL 5 u
/SPEC
PL-06 36 M1Bx2P
PL-08 36 Ma0x2.5P
PL-10 48 M24x3P
PL-12 50 M27x3P
g \AR RN
MODEL Max. Gripping Force
{SPEC. kgt (KN)
PL-06 2950 (29)
PL-08 4890 (48)
PL-10 4980 (49)
PL-12 7240 71)

ha
i

8 5 Qa2 aﬁi

Pull back feature of radial gripping will lead to
almost no work piece uplifting displacement;
CHANDOX Pull Back Power Chucks are ideal
for machining casting and forging parts;

1. By appressing the gripped work piece to the
surface, CHANDOX Pull Back Power Chucks
are suitable for heavy machining,

2. Ghuck Actuators with cylindrical structure are
durable and ensures high gripping repeatability.

3. Accurate salf-centering and pull back features
are adequate for precisa length control
machining requirements.

4. Optional components can be salected for
detecting tha right position on an automated

El K
E L Ioading machine.
B
BHIJUNIT:mm_
D E F G G H J J
max. min. . min
B82.563 15 5 15 5 70 45 36
106.375 17 5 16.5 6.5 84 57 47
139.719 18 5 22 6 100 88 52
139.719 18 5 21.5 5.5 120 725 56.5
L M N N P P Q R
TTIEX, min. TR min.
14 104.8 56.65 54 33 23 a5 3z
17 133.4 69.65 67 38 2B 40 38
24 1714 B7.8 82 48 32 50 50
20 171.4 102.8 97 47 y | 60 52
HESTRE MiTEET BEEEE WALD
Plunger Stroke Jaw Stroke Max.Speed Max. Pull Force
{mm) (Diameler) mm r.p.m.{min") kot  (KN)
10 53 3500 1420 (14)
10 53 3000 2240 (22)
16 11.6 2500 3160 (31)
16 11.6 2000 4480 (44)
D) A i TG R
Max. Hydr. Pressure Waight Matching Gripping
kgtiem®  (Mpa) (ka) Cylinder Range
22 (2.2) 15.4 L1020 235~0160
22 (2.2) 27.8 L1225 o240-a210
ao (2.9) 45.9 L1225 250-0254
30 (2.8) 75.7 L1530 250~0304



PO/ &5 P22 [BR 22 6R

RBH A g2 3 wEEE
4-JAW HIGH SPEED HOLLOW POWER CHUCKS

ikl L

8 S o=
i3 =g
.E]__- _._._3 _ﬁ\s_
el e
1 BI/UNIT:mm
B C D E Ef F G H H1 I J K L
I/ SPEC. Spindle (o)
OPF-206 A5 168 81 140 82563 15 - 5 116 1048 PCDe145 4-MIOX15P 45  4-M10xI1.5P 16
OPF-208 A-6{A:-5) 210 91 170 1064375 17 23 5 150 1334 PCDei80 4-M10x1.5P 52 4-M12x1.75P 18
OPF-210 A:-8(A:-6) 254 100 220 139719 18 28 5 190 1714 PCDe225 4-Mi2x1.75F 75 4-M16x2P 19
OPF-212 As-B 304 110 220 139.719 18 - 6 190 1714 PCDe250 4-M12x1.75P 91 4-MIBX2P 25
OPF2156 A-11(A-~8) 381 133 300 196868 22 33 B 260 235 PCDe324 4-MI2x1.75P 1175 4-M20x25P 28
BAB%E M N N o O P P QR S T U vV W X Y %ﬂ’-ﬁﬁa EEE
1 SPEC. max. min.  max min. max  min [Diameter] S
{mm) (mm)
OPF206 20 3235 206 24 7 11 -1 31 12 19 2 MS5x2P 20 375 73 - 45 12
OPF208 25 391 354 30 10 145 -15 35 14 205 2 MEOx2P 30 395 65 1048 52 16
OPF210 30 515 471 34 12 B85 -105 40 16 25 2 MB5x2P 40 43 110 1334 75 19
OPF212 30 616 563 46 12 8 -15 50 21 28 2 MIOOX2P 50 51 129 - g1 23
OPF215 43 823 77 46 183 75 -15 62 22 425 5 MI30x2P 48 665 165 1714 1175 23
RIS IR ?}Ehﬁ% REDME ﬁfﬁ Puﬂli &aﬁ%ﬁﬁnﬂg % E ;agﬁ?;[gme S
el T Moo Pors Force et bl Welght “Matching  Gripping
(mm) p.m. af  (KN) kaf  (KN) kgficm®  (Mpa) g) Cylinder ange
OPF-206 5.5 4500 1630 (18) 4180  (41) 21 2.1 14.2 P1246 022~169
OPF-208 74 3600 2440 (24) 6010  (59) 19 (1.9) 245 P1552 925~0210
OPF-210 8.8 3200 3160 (31) 8050  (79) 20 (2.0) 38.1 P1875 028~0254
OPF-212 106 2500 4080 (40) 10400 (102) 20 (2.0) 60.5 P2091 835~2304
OPF-215 10.6 1800 5400 (53) 13600 (134) 19 (1.9) 115 P2511 263~2381



1= E 0P Z85H JBR 8 85 T

REF A/l 3 @E=
PEED HOLLOW ROTARY HYDRAULIC CYLINDERS

W U Y —"‘I‘E L vr
el o 2 = " z &-E1 EL A Bi 2 F2
Wi [ Ll
= — - b
= = J P
A2 Fe T ,ﬂw 293 899YEzE s
L T
- =4
%J H 7
kY F'\\ﬂ 2%2-31
PT1 2
5= eT1-144t a0
P2a168
BIUNITmm
L/
STMSS A B! G Ol D DI E Ef z F1 F2 G Gl H J 3 K Kt L
! SPEC. (h7)
POS28 109 120 25 100 80 B-M5x08P 60 6-M8x1.25P 45 114 M38x1.5P 28 60 25 46 15
P1038 11 120 136 25 115 100 B-M5x0BP B85 6-M10x1.5P 48 126 M42%1.5P 38 B8 32 46 15
P1246 12 1285 155 30 130 - 100 B-MBx1P 80 12-M10x1.5P B85 133 M55x2P as 78 3B 48 15
P1552 12 136 180 30 170 130 6B-MBx1P 85 12-M10x1.5F 70 145 MEOx2P 52 875 36 46 156
P1B75 17.5 1545 215 35 180 ~-- 160 6-Mox1P 125 12-M10x1.5P 85 163.5 Masx2P 7a 101 36 46 15
P1878 175 154.5 215 35 190 -- 160 6-M6x1P 125 12-M10x1.5P 96.5 163.5 Ma7x2P 78 101 36 46 15
P2091 21 168 240 35 215 -- 180 6-MBx1P 140 12-M12x1.75P 110 183 M100x2P 91 110 36 46 15
P2093 21 168 240 35 215 180  6-MBx1P 140 12-M12x1.75P 115 183 M103x2P 93 110 36 46 15
F2511 27 191 310 45 275 -- 230 B6-MEx1P 166 12-M16x2P == 140 218 MI130x2F 1175 135 40 46 15
F'EB‘H_i‘ 22 201 345 45 298 305 260 6-MBx1.25P 12-M12x1.75P 12-M16x2P 185 229 M1BOx3P 1665 1B0 50 &0 15
I 4
"M%bgtﬁ M M N NI P PF1Q Qi R1S 8 T TMUU V Vv W W1 W X1
I SPEC. max.  min.  max min
POS28 346 34 44 53 50 4 848 a-Max07P(PCDo76) 5 85 PT1/4 105 4 159 137 905 -0.95 33 95 M34x15P 2395 318
P1036 446 38 55 64 73 6 BO 4-M5x0BP({PCDeBB) 5 105 PTIB 115 & 179 154 10 =5 39 M44ax1.5F 24 42
P1246 529 50 64 76 85 4 90 4-MS5Sx0.8P(PCDo88) 6 116 PT1/2 115 6 184 172 10 =5 40 M52x1.5P 25 50
P1552 59.6 55 73 85 96 4 102 4-Mex1P(PCDo110) 7 135 PT1/2 130 6 196 210 17 =5 47  MS5Bx1.5P 25 56
P1875 846 820 98 108 121 4 131 4-MEx1P(PCDe155) 7 165 PT1/2 160 4 230 235 20 =5 50 MB4x2P 25 a1
P1878 8468 23 938 108 121 4 131 4-MBx1P(PCDo155) 7 165 PT1/2 180 4 230 235 20 -5 50 MB4Ax2P 25 81
P2081 996 95 108 120 138 4 147 4-MEX1P(PCDo165) 7 180 PT1/2 185 6 253 260 25 -5 55 MO9x2P 25 96
P2083 996 100 108 120 138 4 147 4-Mex1P{PCDo165) 7 180 PT1/2 185 6 253 260 25 -5 55 Megx2P 25 96
P2511 1346 125 148 160 178 5 184 4-MEx1P(PCDo20B8) 7 230 PT1/2 210 7 304 302 24 -6 55 M134x2P 25 130
P2816 185 1765 210 224 244 5 250 6-Mex1P{PCDo275) 7 316 PT3a/4 2625 -- 308 -- 24 -6 65 Mi185x3P 35 180
ER i o EAEE WA
B A0S e F < omEawE SEET g, oil (EFSME/)  Piston Area(em’) Max. Operating Force A
MODEL iston - » Leakage Max. #08 HoHe i I] T8 waight
I SPEC. S{,t.l'.,cﬂtff F;xm{srﬂ?:? D?at?:gnr-:\] kgm) "6 Pressure  Push  Pul PushSide Pull Side (kg)h
(1/min) kgliem® (Mpa) Side  Side kgt (KN) kgt (KN)
POS28 5 10 8000 % 0008 30 40 (39) 54 475 2000 (19.8) 1750 (17.2) 6.5
P1036 5 15 8000 105 0012 30 40  (39) 70 68 2500 (24.5) 2400 (235) 9.0
Pi246 5 15 7000 125 0.019 3.0 40 (3.9) 100 B8O 3700 (36.2) 3200 (31.3) 11.9
P1552 5 22 5200 155 0.053 38 40 (3.9) 160 150 5900 (57.8) 5500 (53.9) 17.3
P1875 5 25 4700 180 0096 42 40  (39) 198 183 7200 (70.5) 6700 (8586) 261
P1878 5 25 4700 180 0096 42 40 (39) 198 178 7200 (70.5) 6500 (83.7) 255
P2021 5 30 3800 205 0.16 45 40 (39) 252 235 9200 (90.1) B600 (84.3) 33.3
P2083 5 30 3800 205 0.16 45 40 (3.9) 252 228 9200 ({90.1) B313 (B1.5) 32.9
P2511 8 30 2800 250 05 7.0 40  (39) 348 336 12400 (121.5) 12000 (117.6) 630
P2816 6 30 2000 280 as 8.4 a0  (39) 346 317 12200 (119.6) 11200 (109.8) 963



R F- A a5 42 2]

(O covier chucks
[CIENS S ]

%
jJ.i
:wi:
4

2T B » Dimensions {EA ST SDIN 6343386
e Use collect which conform with DING343

3
_ Multibore Collet Spring Collet
[
- BE/UNIT:mm
Al B C D E
CK30A4 112 85 107.5 828 63.513 Ms0x1.5P
CK42A5 135 100 127 104.8 82.563 M86x1.5P
CK42A6 165 100 127 133.4 106.375 MB6x1.5P
CKB0AS 165 130 150 133.4 106.376 M30x1.5P
T /I848
D F i) H J - o
{ SPEC
CK30A4 45 M40x1.5P 25 17 28 23
CK42A5 80 M55x2P 27 25 34 28
CK42A8 65.8 M&0x2P 32 25 34 28
CKB0AB 82 M75x2P 27 30 38 az
AL /ARAE EETE R .
MODEL L T Sieeve Stroke Max, Speed I3 B BRI 2SR
1 SPEC. {mm) r.p.m (min") Matching Cylinder
CK30A4 3-M10x1.5P 23 5 7000 P1036
CK42A5 4-M10x1.5P 3.2 L 6000 P1248
CK42A86 4-M12x1.75P 3.2 6 6000 P1552
CKB0AB 4-M12x1.75P 32 6 5000 P1875
Bt /1948 PR o B BAKS BABRS
MODEL Matching Collet Ref oo FomM oy Max. Push Force Max. GrippingForce
1 SPEC. Spring Collet Multibore Collet f (KN f (KN
il e e Round Hexagonal Square ke (KN) Kot 0N
CK30A4 163E M-669 23~a30 427 5~20 2040(20) 4488(44)
CK42A5 173E M-B73 e3~p42 6~36 6~30 2550(25) 5610(55)
CKA42A6 173E M-673 @3~a42 6~36 6~30 2550(25) 5610(55)
CKBOAB 185E M-677 24~060 B~52 7~42 3060(30) 6B830(65)

ERMEOATSOIN 634388



OF

1REIRG AR - EER T FRRRECRR  MEIAEIERRRE
» FEESETFIE -

2 pIREE I T{FS LAVESEE TIF ~ BRI SalR- A IERMER
» ERAEMOHERRMEEE -

3. AMIUHESE ¢ S E SIS WIS FSEAE  EAETRRIEASRVIEE
HE ~ SEFRETT) - WIS E IR RIS B EVERST - SRS -

/23 [ » Dimensions

- 2 )-w
& 7 ¥ =
1} "
& .
o
P A3 95 B > Operation Example
3R 4E | > Specifications
5\ 9718
MODEL B € D E F G H I J K
1 SPEC.
MO-04 157 115 - 15 775 104 26 495 14 10 23
MO-05 185 135 -- 15 95 128 33 62 14 10 25
MO-06 224 189 25 16 11B 158 40 73 20 12 3
MO-08 265 210 30 20 138 1B0 42 95 25 14 35
MO-10 315 254 52 23 150 186 46 110 30 16 40
MO-12 375 304 80 23 185 219 54 129 30 21 50
ML-08 265 210 30 20 138 1BD 42 95 25 14 35
J EEEW LETR (L5
Bl /18 a Piston Fg:lrz?(:r Sirws Biroks
Di te
/SPEC. (cm?) (mm) ( '(5;1“;! N
MO-04 - 57 9 38
MO-05 - 74 10 54
MO-06 - 97 12 55
MO-08 3-M10x1.5P(PCDe186) 156 16 7.4
MO-10 3-Mi2x1.75P(PCD@230) 235 18 88
MO-12 3-M12x1.75P(PCDe260) 292 23 10.6
ML-08 3-M1Dx1.5P(PCDa186) 156 165 12

B

o [ R
o™
SPes I I j — J-_
IL l |
B{I/UNIT:mm
L M N o} P R S
13 09 (PCDe@135) PT1/8 MBx1.25FP 3-MBx1.25P(PCDe30) 64 47
13 09 (PCD@185) PT1/4 M8x1.25P 3-M8x1.26P(PCDe100) 80 47
18 o11 (PCD 0202) PT1/4 M10x1.5P 3-M8x1.25P(PCDp134) 80 47
18 @11 (PCD 2243) PT1/4 M10x1.5P 3-M10x1.5P(PCD2136) 80 47
18 @13 (PCD 0285) PT1/4 M12x1.75P 3-M12x1.75P(PCDa170) 80 47
18 @17 (PCD 2340) PT3/8 M16x2P 3-M12x1.75P(PCDe200) 80 55
18 @11 (PCD 0243) PT1/4 M10x1.5P 3-M10x15P(PCD9136) 80 47
. e s )
HARTE ;

e wEmn  RROFOel  gm  mueEm
-aripEing Max. Hydr. Weight Gripping
Force 7 kgfiem?

(KN) Pressure (0.7Mpa) (kg) Range
2400 (23.5) 15 (1.5) 1100 (10.8) 7.05 @8~@115
3985 (322) 20 (2.0) 1300 (127) 11.2 812~5135
5040 (49.4) 20 (2.0 2000 (19.6) 21.0 o15~0169
8100 (79.4) 20 (2.0) 3300 (32.3) 368 ©20~0210
12210 (119.7) 20 (2.0) 4800 (47.0) 564 o33~0254
14500 (1421) 20 (20) 5100 (50.0) 885 @40~2304
5202 (51) 20 (20) 1836 (18) 376 ©20~2210

-3

-JAW HOLLOW POWER CHUCK FIXTURES

PIRINCHZE ($)
SEHIIE = T\ Be

AN PR AR A 1 TIF & meES - SEN0TioaRst -

AWk /2 3 HEEHE

With built-in type cylinder, it is ideal for
magchining application on working table.

1.Rust-proof for Pneumnatic Cylinder:
Inside wall of cylinder baing rustproof treated;
cylinder can work under wet or high moisture
circumstances without rusty or seized trouble.

2 Dusts-proaf and Waterproof:
Dust-proof and Waterproof structure prevents
work-chips and coolant water from entering info
inside of chuck cylinder to maintain its accuracy
and lead to longer service life.

3.Banafit of Bullt-in Cylinder:
The cylinder is connacted to chuck itself directly
for abtaining better stability, less space, and higher
machining efficiency.




LRE A @i/ 9 !
MO 2-JAW HOLLOW POWER CHUCK FIXTURES

P\ ChZE (37)
SHER — Mcag

AN SRS S TIFE EAvES - #tI0Tieest -

1AL ERTE - R T EIRIMMREE R - SELAERAER; SR
r TEERTFE -
2 FERSE : £ T{FS LAvESER TIE « LR SalE-F 88 AZmAE
» FER RN AN RN -
3. EUHEL T « B E RS IS ERAIED « EHETECRIESEVIRE
-~ EARET - BREREUHRZERBERS - SIS -

With built-in type cylinder, it is ideal for
machining application on working table.

1.Rust-proot far Pneumatic Cylinder:

Inside wall of cylinder being rustproof treated;
cylinder can work under wet or high moisture
circumstances without rusty or seized trouble.

2 Dusts-proaf and Watarproof:
Dust-proof and Waterproof structure prevents
work-chips and coolant water from entering into
inside of chuck cylinder to maintain its accuracy
and lead to longer service life.

3.Benafit of Built-in Cylindar:

The cylinder is connected to chuck itself directly
for obtaining better stability, less space, and higher
machining efliciency.

R @ >» Dimensions

- FEFI¥E B> Operation Example |

PELEMEEST / SRR
Examples of Attaching Pneumatic Manual

Switch / Optional Accessories
Fl SR

) _ p— . %dﬁbmnuypshandcontotm

 $ 45 B > Specifications. B{/UNT:mm
B /MR8

MODEL A B C D E F G H I J K L M N 0 P R 8
{ SPEC.

MOT-04 157 115 - 15 775 104 26 495 14 10 23 13 o9 (PCDe135) PT1/8 MBx1.25P 2-MBx1.25P(PCDe90) 64 47
MOT-05 185 135 -~ 156 85 128 33 62 14 10 25 13 o9 (PCDwe165) PT1/4 MBx1.25P 2-M8x1.25P(PCDe100) BO 47

MOT-06 224 1689 25 16 118 158 40 73 20 12 31 18 el11 (PCDe202) PT1/4 MI1Dx1.5P 2-M8x1.25P(PCDe134) BO 47
MOT-08 265 210 30 20 138 18D 42 95 25 14 35 1B o11 (PCDe243) PT1/4 MiOxi.5P 2-M10x1.5P(PCDe138) B0 47
MOT-10 315 254 52 23 150 196 46 110 30 16 40 18 @13 (PCD@285) PT1/4 M12x1.75P 2-M12x1.75P(PCDa170) BO 47
= ZRURT
EEEW EETR (g mawssn  SOEE GripngFood e memm
Piston  Plunger Max.Grippin At Air Pressure L ke
?ﬁt{}éﬂé? Q Strn?:a Jaw Stroke """‘F pping Max. Hydr 7 kgffom’ Weight Gripping
Area oke i orce s j
(Diameter) Pressure (kg)  Range
/ SPEC. e mm) O (N) i (hime) (0.7Mpa)
kg (KN)

MOT-04 " 57 9 a8 1800 (188) 12 (1.2) 1100  (108) 68 @9-s115
MOT-05 -- 74 10 5.4 2620 {25.8) 16 (1.8) 1300 (1279) 1.2 eo12-e135
MOT-06 - 97 12 55 4030 (395) 16 (1.6) 2000  (19.6) 21.0 oi5-@169
MOT-08 2-M10x1.5P(PCDo186) 156 16 74 6480 (635) 16 (1.6) 3300  (323) 368 020~¢210

MOT-10  2-M12x1.75P(PCDe230) 235 18 88 9760 (95.6) 16 (1.8) 4800 (47.0) 564 ©33~2254



PI.VE PULL BACK POWER CHUCK FIXTURES

#hiz\ (58)HEETZEE

A () BEEARTT TIFEEES - St » s THHSE- e L

¥ - B EURISNE RRFIT -

1 SIRIATE - AR TFRRBRENMR « |[UFERNMAE -
AEEMNFE -
2 PoEmEEEE  ET{FE LMsEEIT - /SR TEl B @A ZERPED -

FEfRICERAV(E AW R W -
3 EEVIZRFTERET - EBERAIFEIR T - SMREBETENE -

/R > Dimensions

BB & A 58k /2 3] HAEEH

Pull Back Power Chuck Fixture s ideal for
machining application on working table,
workpiece can be clamped firmly not lift up;
it is suitable for heavy cutting as well as the
casting and forging machining.
1.Rust-proof for Pneumatic Cylinder:
Inside wall of cylinder baing rustproof treated; cylinder
can work under wet or high moisture circumstances
without rusty or seized trouble.
2.Dusts-proof and Waterprool:
Dust-proof and Waterproof structure prevents work-chips
and coolant water from entering into inside of chuck cylindar :
to maintain its accuracy and lead to longer service life.
3.Heavy Duty Glamping Design:
Collocating hydraulic system to do heavy duty clamping,
the chuck structure is steady and won't deform.

| #48 #> Specifications B UUNITmm
B /RE
MODEL A B c D E F Max. F min. G Max, G min, H | K M
I SPEC.
PLVE-O6 224 160 M10x1.5P(PCD@202) 17 140 4565 3565 1465 465 70 -~ 35 @i1(PCD202)
PLVE-O8 265 210 M10x1.5P(PCDg243) 17 154 5745 4745 1645 615 84 26 40 @11(PCD243)
PLVE-10 315 254 M12x1.75P(PCDe285) 20 185 676 516 216 56 100 32 50 @13(PCD 285)
Bl /1548 EREHN EETE mTE (E&)
MODEL NMax. N min P Q Piston Area  Plunger Stroke  Jaw Stroke [Diameter]
I SPEC. (cmi) mm) {mm)
PLVE-O6 5669 54.01 3-M6x1P(PCDo80) 3-M6x1P(PGDo120) 91 10 53
PLVE-08 6956 66.88 3-M10x1.5P(PCDe136)  3-M10x1.5P(PCDa186) 160 10 5.3
PLVE-10 8744 8161 3-M12x1.75P(PCDo170)  3-M12x1.75P(PCD2230) 215 16 116
AL LSl
L /[1R8 MARIEEN A e R D inpina F
MODEL Max. GrippingForce Max. PressureSetting At Air Prafsr:ﬁgr;ﬁgﬂ%ﬁ? (0.7Mpa) Gﬁé’;,‘-ﬁﬁfm
/SPEC. kgt (KN) kgllem*  (Mpa) kgt (KN)
PLVE-06 2850  (29) (1.57) 1270 (12.5) 2350160
PLVE-08 4800  (48) (1.47) 2240 (22) 840~0210
PLVE-10 4890  (49) (1.57) 2140 (21) 240~0210



